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Note : Answer any five questions. Each question 

carries 10 marks. 

1. Consider the following regression model : 

Yi =  + Xi + ui 

 (a) Explain the importance of the variable 

ui in the above model. What are its 

classical assumptions ? 

 (b) Explain the steps in estimation of the 

above model by the method of 

maximum likelihood. 
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2. Explain the concept of heteroscedasticity. 

What are the methods available to detect 

the problem of heteroscedasticity in a 

regression model ? 

3. Explain the underlying ideas behind the 

logit model. Explain how the logit model is 

an improvement over the linear probability 

model. 

4. Consider the following regression model : 

 Yi =  + Xi + ui 

 Show that the OLS estimator   is the Best 

Linear Unbiased Estimator (BLUE). 

5. Explain why correct specification of a 

regression model is important. Give a brief 

account of the possible problems in 

specification of models. 
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6. Explain the concept of multicollinearity 

 in a regression model. What are  

the methods available to detect 

multicollinearity ? 

7. Explain how the instrumental variables 

method can be used for estimation of a 

regression model with measurement error in 

the independent variable. 

8. What is meant by endogeneity problem  

in a regression model with stochastic  

error  

term ? What are the sources of endogeneity ? 

9. Give a brief account of the Durbin-Watson 

test. Explain how it is used and for what 

purpose. 
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10. Write short notes on any two of the  

following : 

 (a) Generalized Least Squares (GLS) 

method of estimation 

 (b) Adjusted-R2 

 (c) Rank and order conditions of 

identification 
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,e- ,- (vFkZ'kkL=)  

(,e-,-bZ-lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-bZ-&101 % izkjfEHkd vFkZfefrd izfof/k;k¡ 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % fdUgha ik¡p iz'uksa dks gy dhft,A izR;sd ds fy, 10 vad 

fu;r gSaA 

1- fuEufyf[kr izrhixeu izfreku ij fopkj dhft, % 

Yi =  + Xi + ui 

 (d) mi;qZDr izfreku esa pj ui dk egRo le>kb,A 

bldh Dykfldh ekU;rk,¡ D;k gSa \ 
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 ([k) vf/kdre laHkkO;rk fof/k ls mi;qZDr izfreku ds 

vkdyu ds pj.k le>kb,A 

2- fo"kefopfjrk dh ladYiuk dh O;k[;k dhft,A fdlh 

izrhixeu izfreku esa fo"kefopfjrk dh leL;k dk laKku 

ysus dh D;k fof/k;k¡ miyC/k gSa \ 

3- ykWftV izfreku ds vk/kkHkwr fopkj D;k gSa \ le>kb, fd 

ykWftV izfreku fdl izdkj ls jSf[kd laHkkO;rk izfreku 

dh vis{kk ,d ifj"Ïr izfreku gSA 

4- fuEufyf[kr izrhixeu izfreku ij fopkj dhft, % 

Yi =  + Xi + ui 

 n'kkZb, fd lkekU;r% U;wure oxZ (OLS) vuqekud   

Js"Bre jSf[kd vufHkur vuqekud (BLUE) gSA 
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5- O;k[;k dhft, fd fdlh izrhixeu izfreku  

dk lVhd fu:i.k D;ksa egRoiw.kZ gksrk gSA izfrekuksas ds 

fu:i.k esa lEHkkfor leL;kvksa dk laf{kIr fooj.k  

nhft,A 

6- ,d izrhixeu izfreku esa cgqlajs[krk dh ladYiuk dh 

O;k[;k dhft,A bl cgqlajs[krk dk vfHkKku djus ds fy, 

D;k fof/k;k¡ lqyHk gSa \ 

7- Lora= pj esa ekiu dh =qfV okys izrhixeu izfreku ds 

vuqeku vkdyu esa fdl izdkj ls lk/ku Lo:ih pjksa dh 

fof/k mi;ksxh gks ldrh gS] O;k[;k dhft,A 

8- laHkkO;rk vk/kkfjr =qfV in okys fdlh izrhixeu izfreku 

esa varLFkrk dh leL;k D;k gksrh gS \ bl vUrLFkrk ds 

lzksr D;k gks ldrs gSa \ 

9- MfcZu&okVlu dlkSVh dk laf{kIr fooj.k nhft,A 

le>kb, fd ;g fdl izdkj ls vkSj fdl mís'; ls iz;ksx 

dh tkrh gSA 
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10- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡  

fyf[k, % 

 (d) vkdyu dh lkekU;hÏr U;wure oxZ (GLS)  

fof/k  

 ([k) leaftr&R2 

 (x) vfHkKku dh dksfV ,oa vuqØe 'krs± 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 

 

 


